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- Monic interpolation (Section (6 .2)

versus Lagrange interpolation (Section 10
. 3)

- Divided differences (Sections10 .
4-16 .7)

See article :

COsc 303 : Remarks on Divided Differences

(likely to be revised to include more

comments on 10
. 4-10

.7)



Likely look at the following ---
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But consider Lagrange interpolation :
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Linear case of Lagrange

interpolation :
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The paint :
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This
gives one situation where

Logrange interpolation loses

less precision than monic

interpolation

Section 16
.
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7 + beyond

-DividedDifference...
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